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A A. B and C can complete a piece of work In 24, 6 and 12 days respectively. Working together,
they will complete the same work In

(1)2-:?,-davs _ (2)—- days .

(3)3 —:-days (4) 3 = days

low:
5 Answer the following question on the basis of the informatlnn given belo

Eight Persons — P, Q, R, S, T, U, V and W are divided into two groups namely G1and G2 of four
persons each. The following restrictions I:nld good. ,
(i) P must be in the same group inwhich Tis
(i) Neither Q nor R can be in a group in which Vis | f
(iii) U cannot be in a group in which both 'R’ and 'S' are

(iv) W and U cannot be in the same group. o ;

If W and Q are in group G1, then which of the following options is true: /
(MR isrin the group G2

(2)U,V,Pand T are in the group G2 A
(3)Sisinthe grnUp G2 i~ . / -
(4) S and T are in group G1 |

6. Statements: LA
(A) Some tins are round |
(B) Some cups are round
Conclusions:

(I) Some tins are CUps
(1) All round things are either ti_ns or cups

(Ill) Some tins are rectangular

e flat
(IV) some cups ar (2) Only Il and IV follow
(1) Only | follows

ow
(3) None of the conclusions follow (4) All the conclusions foll
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From a Point 'S, Rohan walked 30 meters to the north, then turning to his right walked 30 |
meters. He again turned to his right and walked another 50 meters and finally turned to his

right and walked 30 meters. In which direction and at what distance is he from the starting
point 'S'?

(1) 20 meters to the north (2) 20 meters to the south
(3) 30 meters to the south (4) 30 meters to the north

The annual requircinents of blood in our country is six million units whereas the generation is
only 3.6 million units per annum at present.

Course of action:

l. Blood donation should be attracted by telling them how the act of donating blood would
improve their health

Il Blood donors should be attracted by providing them monetary incentives.
lIl. More and more private blood banks should be encouraged.
(1) Either | or Il follows (2) Only | and Il follow

(3) Only Il and lil follow (4) All the three follow

The ratio of the ages of the father and the son at present is 19:5. After 4 years the ratio
will be 3:1. What is the sum of the present ages of the father and the son?

(1) 40 (2) 48
(3) 42 (4) 44

Here some signs used in Mathematics are replaced by different symbols as follows:

> stands for division

v stands for multiplication

< stands for addition

a stands for subtraction

+ stands for equal to

— stands for greater than

x stands for less than

Choose the correct answer from the following options given below:

(18<2A6+5v2A6 (2)8>6Vv6+8v4ns
(3)5A6>9+6A9Vv8 (4)3A4>5+8A61n4 |
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11. QR ime@u@ m_pm:
(1) 8,3 033, Boer
(2) 8,5° DR TRET
(3) 3,5 Dt ex BRew
(4) 8,5 DOINRET" BeT

12. 200 DSOHE, Wi, 3600 W,HFAYNT. NG SAT/ Bw,RE IVASNIR HARNT
OTR,QFNY e ST B3 FINT03T.

earhl Fdriandh 22% Xohed Jdridrieh 18%

mus 2onsnd 13% : |
7 §3 donanb21%

2a0n3driand 11%

13, oo IoRrD 15%

HMET BROT T DT 30R8NYR S00mDONATIT wed), DTR,PFNY Ross, ), 7
(1) 684 (2) 846 -
(3) 864 | (4) 648
13. 2,00 BRDBR O TR DN BT B0 BOPHVE0D teer WIS WG 30D TR
B NG, TS 3 FINS 0INE BePFOI FOCRNT?
(1) P (B} = 1/2 P {3¢F} = 1/2
(2) P {&c*} = 3/4 P {3ecF} = 1/4
(3) P (S5} = 2/3 P {t3e<F} = 3/7
(4) P {37} = 2/3 P {t3eef} = 1/3

S ——
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1.

12.

13.

C1

Expand QR Code:

(1) Quick Reply code

(2) Quick Response Code
(3) Quick Retrace Code

(4) Quick Reaction Code

Total number of students in a school is 3600 and the percentageé of students enrolled in

different hobby classes in the school is as follows:

Cooking classes
22%

Singlng Classes

Drama classes
13%

Dancing classes
21%

Stiching classes

"=
Painting classes ‘
15%

Then, what is the total number of students enrolled in stitching and drama classes together?

(1) 684 - (2) 846

(3) 864 (4) 648

In tossing an unbalanced coin, the probability of getting a head is 2 times the probability of

getting a tail. Then which of the following is true?
(1) P(head) = 1/2 P {Tail} = 1/2

(2) P(head) = 3/4 P (Tail} = 14

(3) P(head}=2/3 P (Tail}=3/7

(4) P(head) = 2/3 P (Tail}=1/3

SPACE FOR ROUGH WORK

1"

G Scanned with OKEN Scanner

{} Scanned with OKEN Scanner

CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

14. 38§ P03 SCRWNFN

' /
'..%’ T

oA 35°, o) B w8 Hanegiddse b, thom) C Aerd PI00SR B3RS
30R) IBNFTD BHF O a’aﬁdmﬁdasad SInle! ﬁﬁ‘rﬁ@ahtﬂaaﬁa@ ¢ rboc.g odmdjcb‘?

Oh : L @f
) e (4) e |
15. A 3B ABRBRTT, AS RRpedd C, ES R80e30 D, BRSrich E, DF 08 cnt?
(A . (QE
(3) D | 4) B

16. 8930BINIS @ DoeF 1 FowoRATOS 3&::-:3 ﬁe@ﬂccba'b 0l BRA.
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a) W JexFT : AR Q. 20. 2. &

b) P i Q0.00.9.

c) DeRo3RE I IO, jil,  oW.LB

d) DREWON iv.  030.8.. = "

(Da-ii,b-iv,c-i,d-iii . .(Q)E'E'b‘f‘““:u:d'j

(3)a-ii,b-i,c-iv,d-iii | (4) a - iii, b-1,c-iv,d -1ii |
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Immediate Inference

14.
Set A is Clerks, Set B is 'Graduates', and Set C is 'Government employees.
Some graduates are Government Employees but not Clerks. Which is that group?
(Mh (2) f
39 - (4) e
45. If A and B are brothers, Cis the sister of A, D is the sisterof Eand E is daughter of B, then who
is the uncle of D? |
(NHA ' (2) E
(3)D A3 ' (4) B
16. Choose the INCORRECT statement with respect to email: |
(1) Can send only text documents thrnuglh email . _ ‘
~ (2) email is faster than snail mail
(3) eméil is a method of exchanging digital messages over a network . "
(4) Users communicating through email need not be avqilable at the same time
17.  Match the following:
a) Webpages . g i.' VolIP
b) Voice call | i. MMS
c) Video conference : R L HTTP
| d) Messaging - w UDP
Choose the correct answer from the options given below: |
(1) a —ii, b —iv, c — I, d = il (2)a—iii,b=iv,c—ii,d =i
‘(3a-ii,b=i,c—iv,d-li = @)a-Ilibb=ic~iv,d-ii
. AT W ool et B a5 S R A
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(1) REFRIFT (2) B8 RRFT
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(A) ZOWT FIFZODO ) ea3e8 200300 Y LTNT dawifﬂ (upnght)mﬁdwaﬁbd)
(B) 3% 00T VOO0 DT BHFHOD az:’g__,;dmsidaigl DFOR B 0D IREIT.

tﬂﬁ’%ﬁ#&:
(1) Sevd A ROERNT  (2) TBewd B ROOIRNT
(3) Tewd A T B 0B ROOIPNT (4) TBewT A 5= B 28R RO,
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18.

19.

20.

21.

22.

Which initiative of the Government of India provides 24 x 7 DTH satellite TV channels?
(1) Shodhganga

(2) SWAYAM

(3) Swayam Prabha

-'(4) Shodh Sindhu

Which type of server redirects to the websites?
(1) Cloud Server | ~ (2) Proxy Server
(3) DHCP Server | (4) FTP Server

Which initiative of Government of India facilitates academic institutions to store and publish

their awards/certificates/degrees?

(1) Central Depository Services Lhﬁited (CDSL) %
(2) Consortium for Educational Communication (CEC)
(3) National Securities Depository Limited (NSDL)

(4) National Academic ﬁepnsitury (NAD)

B.O.D. test is made for measﬁring which of the following pollution?

(1) Noise Pollution - il L2 (2) Water Pollution

(3)1Snil Pollution (4) Air Pollution

Which of the following statement(s) is/are correct?

(A) In many aquatic syétem Pyramid of Biomass may assume upright

(B) Energy Pyramid Concept helps to explain the phenomenon of biological magnification.

CCI'C'ES: : L

(1) Statement A is correct
(2) Statement B is correct
(3) Both statements A and B are correct

(4) Neither statement A nor statement B are correct

.__'/’————A_/_
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(a) e3E30eBRBT DDA (exhaust)
(b) S0t BN

() 308 RRNT
(d) PV INRT d)dd eBR DT EINY m*a’

(e) THOONTZ e wgaﬁ# AL . - _ /
$9NS oYY F0INT KVIT SO /
(1) b &0 ¢ BN A (2) b DD, d =23, . P ‘_-_/

(3) a; b, ¢, d D0 e (4) a, ¢ I d BRY |

24, $9N Dt RIR) BRoOK, ROINT V3T ForEBWD :

TORT HTW, W0 DWOTIND
a) Rootyohef 4T L R3n RORoBINY ATFT =%
b) TR,O0F WROT i BedRerased mmd(amma‘ ge@orv)
- . BOBBOTPN E.ci:uaea‘ RwTY SRBOB
c) B ety o i SRorieh -
d) 3BwRctdne dxw»0 . v emzjew OOy, € 0D ﬁ.raai:ﬁﬁdo
SORND: - g
(D)a-ii, b-i,c-1,d-1v (2)3-11,13,-_111,'(::i,,d-iv
@) a-ii,b-iv, c-iii,d-i | (4) a -iii, b -iv,c-i,d-ii

25. @1 BUNTHYNYS 0dna weed SHNT?
(1) BPd A - SRORIT LeRT s%z:;s' |
(2) 3 BRRRUBRD - A7, T OBND
(3) 73 B[BP - DITr2dew BT BRYS
(4) DT, MICAD - evx IROT,

- _# —
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23, Which of the following are the reasons/factors for exposure to benzene pollution?

(a) Automobile exhaust

\ (b) Tobacco smoke

"I

\

'ﬁ"a\ (c) Wood burning

x(d) Using varnished wooden furniture
(é] Using products made from polyurethane

Select the correct answer using codes given below:

(1) b and c only (2) b and d only

(3)a,b,c,dand e (4) a, ¢ and d only

24. Match the following and choose the correct answer.

Environmental Protocol Provisions

a) Montreal Protocol i. ° Integrated Water Resource Manage

b) Paris Agreement . ii. Emissions Trading

c) Climate Action iii.
d) Kyoto Protocol iv.
swer from the options given below:

(2) a —ii, b =i, c =i, d =iV

Choose the correct an

(1) a — iii, b - i c—i,d—iv
(3) a —ii, b — Iv, c —iii, d = | (8) a — i, b— v, c — i, d =i
25.  Which of the following pair(s) is/are NOT curre;t?

(1) Sewage — Oxygen Demanding Waste

(2) Agricultural fertilizers — Plant Nutrients

(3) Land Erosion — Radioactivity material decay

(4) Power Plants — Thermal Pollution

. | SPACE FOR ROUGH WORK
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26.  Do&,e0h MoF 3 ecdnot LY, (NIRF) Rogjosn cv3 3 RoRNI) FIFOR 0IRT 205 |
0DH oam*a: 308 BPYBRTI dmebdtﬂ? S \

. (1) o608 admR, Do), VAE,D 0O
(2) 86 Y363 IBa Hm,PFNY Bosg,
(3) ©OF Begs, BoBRGS B DRI WenBesny PobF IS

(4) OTT DAFT STOH TS Y
27. 189307 Tty NTS) BRODA, ART YUSTRYR) odBENa:
a) mFudden | g3 dYpmN WOBFE DD, a-ffa_g/o-’
| : 3,6033008 FA, - -
b) CHTFTDEF ZWS(2008) . FITO BEM daéo PZe, LRFOR-
| : W3 VBT
o ARBHeb A3 (2016) . womh e Roduho 90 FIBS AoAN
| | moﬂ:rﬁ#d&m#ﬁm%‘g@&
d) oo, ST . O . (2015) i agaumd@ldzﬁ*ﬁm Sz TAD

RR BT

(1)a-i,b-ii,c-iii,d - iv
2) a-ii, b-iii,c-iv, d-i
(3)a-iv, b -iii,c-ii,d-i

(4)a-iii,b-1,c-1iv,d - ii

28. 8 wnmmqm@dqmg mpag%rbﬁﬁfﬁ ORODY RedRON? |
(1) Qon Z=NIS- ; |
(2) 303F AT
(3) [T xbxgndé
(4) SHF T ﬁ:z&ﬁé
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26, The National Institutional Ranking Framework (NIRF) assesses higher education institutions

based on various parameters, including:
(1) Their history and age of establishment
) (2) Their student enrolment numbers
(3) Their teaching, research and outreach performance

(4) Their annual revenue and profit

27. Match the following

a) Knowledge Commission i Transparent and nhjeqtive ranking system
- for higher edq_catlun
b) Yashpal Committee (2008) il Emphasized vocational education and skill
| development

¢) Subramaniyan Committee (2016) iii. One apex body to cover functions of all the

_ ‘ . professional bodies
d). NIRF (2015) iv.  Recommended creation of universities

Choose the correct answer from the options given below: '
()a—i,b—ii, c—iii,d —iv | ' ‘
(Z)E—Ii,b-lii,c—iv,d-—i

(3)a-=iv, b—iii,c—ii,d=I

(4)a—iii.b-i.c-iv.d'-ii

28. Which of the fnllnwing is NOT included under Sustainable Development Goals? -

(1) Gender Equality
(2) Technological Sustainability
(3) Envirnnmentél Sustainability

(4) Economic Sustainability
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29. The first open university established in India is |
(1) Dr. B.R. Ambedkar Open University (BRAOU), Hyderabad
(2) Indira Gandhi National Open University (IGNOU), New Delhi
(3) Nalanda Open University (NOU), Patna

(4) Vardhman Mahaveer Open University (VMOU), Kota

30. National Board of Accreditation (NBA) is connected with the accreditation of:
(1) Distance Education Institutions
(2) Institutions providihg technical education
(3) Professional education institutions

(4) Technical programme offered by an institution

31. Learning objectives in the context of a classroom means:
(1) Academic achievement
(2) Intended learning outcomes
(3) Learning experienr.;es to be provided

(4) Activities to be performed by the learner

32. The right sequence of cognitive development according to Piaget is .*
(I) Formal operational stage
(I1) Concrete operational stage
(Il) Sensory motor stage

(IV) Preoperational stage :

(1) I, 1, 1V, 1 (2) 1, 1, 1, IV

3

(3) 11, IV, 1, | (4) IV, 1L, 10, |
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(1) a—ii, b —iv, c —iii, d — i - _' okt
(25a—i,b—ii,c—iii,d-—ijr‘
(3) a—iil, b—ii,c—iv,d -1
(4)&—111,13 —iv,c—11,d -1

35. VRS 3BT 023 5 I ::soli% BOER F Y TROT zs" Qe r{e;?da ﬂ%m DRI macb@da
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33.

Which of tﬁe following are the characteristics of SWAYAM portal?
(i) Prnmntiné high quality Educéﬂun only at the school level

(ii) Improving access to high quality education

(ili) Group DTH channels for promoting higher education

(iv) Self-assessment is not possible

(1) (i) and (iv) - (2) (ii) and (iii)
(3) (iii) and (iv) ' (4) (i) and (ii)
34. Match the following:
List | Listl | ¥y /

a) Trial & Error . i Cognitive abilities are used for learning

b) Classical conditioning -  ii. = Reinforcement is used for learning

c) Operant cnnditiuning il Practice réduceg'rﬁistakeg

d) -Learning by insight V. Artificial stimule is used . /

Chnnse the correct answer from the fn!}pvﬁng codes: ' i | / %‘;
(1)Ia—ii,b-i\;,c—m.d-| . _ / _; >
(2)a-i,b—ii,c—iii,d—iv : - yoon— | L
(3)a—iii,b—ii,c—iv,d - Fh e | .’
(4)a—iii,b—iv,c—ii,d—1i

I 35. The provision of earning credité from optional and elective courses was introduced in Higher

Education by which of the following? '

(1) Academic Bank of Credits |

(2) MOOCs on SWAYAM portal |

(3) Choice-based Credit System

(4) BVoc courses . i

- —— = —,"L _ . l_:ir
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36. Match the following:

List | | List 1|

a) Historical Research i.  The researcher finds the solution by

considering his/her group as the sample

b) Experimental Research ii. Gathers data from a large number of cases at a
particular time

c) Survey Method | ii. Studying the past events and examining the
application to the present

d) Action Research i

The variables are controlled and manipulated

Choose the correct answer from the following codes:

(a—ii,b—iii,c~iv,d —i (2) a—i, b—ii,c—iii,d —iv

(3)a—iii,b—iv,c—ii,d =i (@) a—ii,b—iv,c—iii,d—i

37. Which of the following is the right sequence of conducting research?.

(I) Data collection

(Il) Data analysis

(Ill) Formulating a research question |

(IV) Writing the literature review

Choose the correct answer from the following codes:
ROINIARL, - @)L,V
(3) 11, IV, 1, 1 . @1,V

38.  Which of the following i-s a characteristic of Longitudinal Studies?
(1) Studying cross-sectional relationships
(2) Studying different subjects over time
(3) Studying different subjects at the same time
~ (4) Studying the same subjects over time

\___—d—__\__—__‘“
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39. 'Plagiarism' in research Involves:

Using other's
(1) g ideas and work without proper attribution

(2) Collaborating with fellow researchers On a project

(3) Including personal opinions in the discusslnn section

(4) Providing proper citations for all the sources used

40. Which of the following is NOT a Probability sampling?
(1) Random Sampling

(2) Snowball Sampling
(3) Systematic Sampling
(4) Stratified Sampling

* Read the passage given below and answer the questions from 41-45 based on your
understanding of the passage:

The intellectual life of the 19" century was more complex than that of the ﬁreviuus age. This
was due fn several causes. First, the area concerned was larger than ever before; America
and Russia made important contributions, and Europe became more aware than formerly ‘
of Indian philosophies, both ancient and modern. Second, science which had been a chief
source of novelty since the 17" century, made new cnnquests specially in Genlugy. Biology
and Organic Chemistry. Third, machine production profoundly altered the social structure
and gave men a conception of their powers in relation to the physical environment. Fourth,
a profound revolt, both philosophical and political, against traditional systems in thought,
in politics and in Economics, gave rise to attacks on many beliefs and institutions that had
hitherto been regarded as unassailable. This revolt had two very different forms, one romantic,
the other rationalistic. (I am using these words in a liberal sense). The romantic revolt passes
from Byron to Schopenhauer and Nietzsche to Mussolini and Hitler; the rationalistic revolt
French philosophers of the revolution, passes on, somewhat softened, to the

~ begins with the
philosophical radicals in England, then acquires a deeper form in Marx and issues in Soviet

Russia.
\___—_/w ;
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41. How many important causes does the author list out as responsible for the complexity of the
intellectual life of 19 Century?
(1) five (2) four
(3) three ~ (4) six

42. Which area of the world bgcame more aware of the Indian philosophies?
(1) South America |

(2] Europe
(3) Russia

| (4) North America

43. What, according to the author, altered the social structure of the 19" Century?
(1) Power structures

(2) Cultural systems
(3) Machine Production
(4) Physical Environment

44. Who began the rationalistic revolt, according to the author?
(1) Mussolini |
(2) French philosophers
(3) English radicals
(4) Nietzsche

45. What does the.authnr.'say about science in the 19th Century?
(1) It had been the chief source of nnvelty
(2) It lacks moral responsibility
(3) It'is the chief source of destructinn _ |
(4) It supported the established systems and institutions

46. What are the elements of 'Aristotle Mﬁdel of Communication'? |
(1) Sender, Encoder, Channel, Decoder and Receiver
(2) Source, Message, Channel and ﬁeceiver |
(3) Sender, Transmitter, Noise and Receiver _ LIS .
(4) Speaker, Subject and Audience

e —————————————————— e —— _-———--"'-":"'

SPACE FOR ROUGH WORK

26"

G Scanned with OKEN Scanner

(O Scanned with OKEN Scanner

CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

17, SHROF o 838 BPS AR BoRBI B3,000H& () B Fodeen (i) 3,20 D09 (iii)

30NE LR BWNY TP
(1) 38%, 7% 020,66% (2) 7%, 38% 03,56%
(3) 55%, 38% &30, 7% (4) 38%, 55% 3, 7%
48. 33N ERBODO RSB 8003 PR § SRP)T Bt ITPDE, ROWORPAT.
(1) BB ~ (2) ?TBFD
(3) T8 ot (4) D003
49. SRbS DODFBR), RRND WODBIBY, ot DTORRNG.
(1) IR0 (2) BT
(3) QFEIFQD | (4) g%d-m’r,.-gf
50.  ROCIRE 0 03R0BR RPODA LD :
olerstanlovel) o
. Deaodeeriess
8) 3 I | ¢ -e 2
DT AF -
¥ i. Erachatoe
b) E‘.b?)l;%sd.) l (N Jwg
c) SRTCIS il. DOPLAND
B G,

d) o ab‘aqfsa’o iv. RV RO
21 §9N3 8pedRPon ROKNE GBI HORD:
(a—-iv,b—i,c—ii,d =ii
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47.

48.

49.

50.

According to Mehrablan,
(iii) body language in over

(1) 38%, 7% and 55%
(2) 7%, 38% and 55%
(3) 55%, 38% and 7%
(4) 38%, 55% and 7%

the respective contributions of (i) words, (i) tone of voice and

all communication are

The communicative act of raising a hand in a classroom is of the following type:
(2) lllustrator
(4) Regulator

(1) Emblem
(3) Body manipulator

The information function of mass communication is described as
(2) Publicity
(4) Diversion

(1) Diffusion
(3) Surveillance

Match the following:

a) Traditional Media

b) Electronic Media

c) Outdoor Media
d) New Media

Ma-ivb-i,c-

i, d =il

i Video Games
ii. Posters

iii. Websites

iv. ' Community Radio
Choose the correct answer from the codes given below:

(2) a —ii, b — iv, ¢ — i, d — i
(3) a — ii, b — i, c — iv, d — i
(4) a - iv, b — iii, c — i, d — i

————————
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